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1
Decision/action requested

To discuss and agree to send LS to RAN2 to define throughput related measurements. 
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3
Rationale

In [1], the formula of E-UTRAN PDCP Throughput KPI is missing due to corresponding measurements not ready.

To define the corresponding measurements, RAN2 intelligence is needed. According the agreement between RAN2 and SA5, the measurements should be defined or approved by RAN2.

During last meeting, there was some concern that the measurements to be defined to support throughput KPI could be reduplicate with existing counters “cell PDCP SDU bit-rate” in [1]. As illustrated below, they are different. 

The existing measurement “gives an indication of the loading and activity in the cell”, it is to measure throughput from cell/network capability perspective.

The new measurement is to measure throughput from end use experience perspective. 
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4
Detailed proposal

It is proposed to send the LS enclosed to RAN2 to define PDCP Throughput related measurements.
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During T1, Thp1 is transmitted; During T3, Thp2 is transmitted; During T2 and T4, nothing is transmitted.


cell PDCP SDU bit-rate = (Thp1+Thp2) / (T1+T2+T3+T4)


KPI related measurements = (Thp1+Thp2) / (T1+ T3)








